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Reminder: Conventions

Y 2 3 0 1
A 0 o 0o o
6 7 4 5

® © o o
11789

®e 6 0o o

14 15 | 12 13

® © o o

P» X

» X-Y convention derived from
the drift chambers

» Propagated to the Xm-Ym
variables

» Blue square is the drift chamber
blind zone

2/42



Some news

» | found a bug in my code for
determining the
homogenisation coefficients

» In the last step of the
processing quadrant have been 10 n o

choose by their index instead of .-.-

the fibre number

» Not a game changer but need
to be corrected ' ' o

Correct quadrant and fibre
numbering
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Homogenisation 1/2

Fit performed on a quadrant basis (1 fibre). Only the Landau MPV is

reported.

o L 272.3 [PIOK y 179.5 175.9
1
1 266.6 2 9| 158.1 1635 164.4 1795

g 142. 9.3 1723 191.8 199.2 || 207.0

7 4

¥ 1513 139.4 [200.6 195.7|[208.6 1 206.7| 70.9 76.1

< 150.9 164.4 LG 210.0 |234.8
11

0 204.2 (2385 166.9 194.4 [222.3 [2352

15 12
~ PACRA 271.9 [BEEKSTYXC] 284.1
[ 1 2 3 4 5 6 7

Before homogenisation

200

150

100

201.5 | 213.6 [PEyN 172.4 198.6 |221.2| 207.3 203.5
2 0 1

1845 (1945 2028 1835 185.2 189.8 |207.9

200.1 182.9 7 19
6 7 4 5

2109 192.3  201.0 196.2 1944 1926 1859 2016

217.0| 193.0 16 187.5 |196.5 185.5 |207.6
11 5 9

2002 |213.0 185.6 190.3 196.1 |212.9

175.0 |206.5 176.0 |203.9 190.6 |201.3

15 12 13

193.6 [PXERN 200.0 204.2 |210.7 [RXYE]

0 1 2 3 4 5 6 7

After homogenisation

220

210

200

190

180

170
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Homogenisation 2/2

Fit performed on a quadrant basis (All fibres). Only the Landau MPV is

reported.
o 490 577.1 | 536.2 |
R 469 564.1 | 598.7 | 590.1 0 40
LR 464.0 0 588.0 | 611.4 | 579.9 | 546.3 L)
g 441.4 4 588.3 | 614.7 | 609.7 | 577.8 [R=3NY
< --. |1 541.8 | 588.2 | 639.4 | 628.9
n JEEE 499 551.1 | 605.1 | 613.8 | 623.1 | 567.7 |
© 576.4 | 549.0 | 578.8 | 551.8 | .3
~ - | 544.9 01.0 08.0 08.0
0 1 2 3 a4 5 6

Before homogenisation

535.6 JLEL

500

450

400

350

300

250

550.9 | 562.0 | 532.3
7711|5716 [ 595.7 | 576.5 [ 573.0 | 534.7
0
560.5 | 590.8 | 604.5 [ 584.3 [ 579.6 | 540.2 |
5452 [ 555.8 [ 581.7 | 581.7 [ 577.6 | 539.6 |-
568.5 | 596.4 | 554.4 | 562.3
547.3 546.7 [ -
09.6 48
1 2 3 4 5 6

After homogenisation

» New maps have to be produced for next meeting

500

450

400

350

5/42



First look at muons data (Troll1 with water)

Hit distribution
Hit map

1.0

05

» Run 34

» Statistic not large enough to do > 00
something

» Move to pions runs

Troll 1 - Muons

800

700

600

500

400

300

200

100
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Hit distribution
Hit map

800

» Run 51 . 500
» First step : determine the fibre > 00

position (V2 processing) e

w8 300

-1.0 200
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First look at pions data (Troll1 with water)

o1 26 37.6 ' 182.6 |[PPAWA 1891 1466 1355
3 0 1
BRIPELRN200.8 (| 1858 168.0 1923 177.8 1245 136.6

>
Run 51 B 1102 941 1574 142.0 i 6 178.5 182.0

» Second step : find the s ! s
. . .. ¥ 1286 111.1 159.4 152.8 |170.9 156.5 |188.3 | 188.0
homogenisation coefficients

’ Use the mean value of the <r 167.9 1293 124.4 [196.7190.6 176.8 '195.0

10 1 8 9

diStribUtion inStead Of the 166.0 139.9 122.2 [196.3 | 181.0 191.0 '192.2
Laudau MPV

Ly 132.7 1015 [179.5 165.7 140.3 127.0 [196.9 1915

15 12 13

¥ 153.1 118.8 J2050A 192.7° 168.7 135.2 [PFiScE 104.4

-220

200

180

160

140

120

100
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Homogenisation

» Fit performed on a quadrant basis (All fibres). Only the Landau MPV is
reported.

» Opportunistic model using the parameters found in the muons/pions
heavy liquid study (crystal ball) :

» OcB = Ogauss, cB = V2MP Vi andau
» acg = —0.134, fraction of signal = 0.80, ncg =5

419.0 [452.8 [EZIRY . 368.5 300.0 338.2 | 397.0 ELYNGHMA4T6N 145201 413.6 | 387.4 300.0
2 3 1 [ 2 3 0 1

487.8 490.2 MB2I5N  400.6 350.0 389.2 {4339 LENOR M4SER 410.3 366.1

LR PIH N 481.6 | 498.8 470.5 [EARACT RPN 455.8 496.5 | 470.1

417.9

6 7

392.9 |426.2 | 452.8 KELH)

441.4 | 444.4 | 447.0 |FEN i 489.4

Pl | 451.9 486.7 ELER:N | 410.7

350.2 376.6 [433.5 4449 [457.4 [454.2 404.1 4253 . 4333 | 373.4
12 14 2 13

366.8 |395.1 387.0 300.0

Before homogenisation After homogenisation

-450

425

400

375

350

325

300
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Homogenisation

» Warning : The map can not be compared straightforwardly, not the same
homogenisation procedure

-600 -500
336.1 400.9 |SIS8IS1624 477.7 489.1  418.2 323 338.2 | 397.9 4416 432.0 413.6 387.4 300.0
2 3 o 1 2 R 1 -475
EI:RE orfo] 550.9 | 562.0 484.7 414.8 550 389.2 4339 410.3 366.1
-450
571.6 | 595.7 534.7 LN 414.6 EEER:S
500 425
590.8 | 604.5 540.2 YyFNA
400
555.8 | 581.7 539.6 [L0X) 450 K 489.4
375
554.4 | 562.3 486.7 463.8 |LsUV/
400
350
5(]5.3 424.0 4333 | 373.4
13 13 325
350
459.7 |509.6 | 485.2 | 485.7 | 462.5 3772
300

Heavy Liquid
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The fits

Events/(12)
@
=

Fibre 0 Quadrant 0

mi= 413.6 2|0
sg= 56.7+1.9

sl= 18.6+1.6

1200
hTot

Events/(12)

Fibre 0 Quadrant 1

NN

mi= 432.0+1|9
sg= 56.0+1.9
sl= 18415

Bk
1000 1200
hTot
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Events /(12)

B

Fibre 0 Quadrant 2

mi= 466.0+1
sg= 51.6%1.5

sl=214+13

Events /(12)

Fibre 0 Quadrant 3
300 ml= 443.1£1|5
L sg= 51.2+1.8
250 sl= 20.8+1.3]
200f-
150[-
100F
s
0: 1L o =1 9. . 1
200 400 800 1000 1200
hTot
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The fits

Fibre 1 Quadrant 0 Fibre 1 Quadrant 1
ml= 300.00 +D.23 a f mi= 387.4+18

sg= 635118 3 250l + sg= 55918
sl= 15514 g [ sl= 14.0+1.3

w L

200

150/

100f

s0[-

800 1000 1200

hTot hTot
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g

Events /(12)

Fibre 1 Quadrant 2

ml= 410.3+1[4
sg= 47.0%15
sl= 207+1.2

Fibre 1 Quadrant 3

a [ mi= 366.1+1)7
3 2s0f- sg= 51.6+1.8
¢ f sl= 204414
g I
200
150[
100
s0l-
% 200 400 600 800 1000 1200
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The fits

Events/(12)

Fibre 2 Quadrant 0

2 @
3 2

&
BRI RARN RARRRARS]

4ok

mi= 397.9+2l4
sg= 61.3+2.1
sl= 159+1.8

1 1. %%, 873
200 400 600 800 1000 1200

hTot

Events/(12)

Fibre 2 Quadrant 1

mi= 338.2+2l4
sg= 55.8+2.1
sl= 14417

J s b
200 1200
hTot
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Events /(12

Fibre 2 Quadrant 2

E ml= 389.2+1[8
= sg= 50.6+1.8

1aof— sl= 17.1t1.4

160F-

1a0f-

120F-

100f-

aof-

sof

aof-

2o .

o 200 400 600 800 - 1000 1200

Events /(12)

Fibre 2 Quadrant 3
3001 ml= 433.9+1/6
F * sg= 49.9+1.6
2501 sl= 182+1.3
200
150F
100F
so-
&
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Events /(12)

Fibre 3 Quadrant 0

o

OgrTTT

Fibre 3 Quadrant 1

ml= 441.6+4]7 « f
sg= 45.9+5.1 2 12:_
sl= 203442 § [
w L

10

s

oL

£

L

o=t

sg= 73.3+6.7
sl= 0.1+3.7

hTot

ml= 484.6+ 9,1
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Fibre 3 Quadrant 2

mi= 467.8+1|9
* sg = 56.4 %2

sl= 208+16

Events /(12)

Fibre 3 Quadrant 3
250 ml= 469.7+1\6
[ sg= 524+18
[ sl= 204114
2001—
1501
100
sol-
oh L -
200 400 600 800 1000 1200

hTot
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Fibre 4 Quadrant 0

g

o %00 mi= 470.1£1

g F + sg= 48.6 1.7

§ 2501 sl= 264413
w L
150(-
100F
soF-
o

Events /(12)

&

g

Fibre 4 Quadrant 1

ml= 496.5+1
sg= 525+1.7
sl= 246+1.4

5
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&

Events /(12)

Fibre 4 Quadrant 2

ml= 501.6+1|5
sg= 52.0+1.7
sl= 251+1.4

200 600 800 1000 1200
hTot

Fibre 4 Quadrant 3

P ml= 497.7+1[7
3 [ sg= 545+1.9
s [ sl= 245415
% 200[-
1501
100~
so-
o
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Fibre 5 Quadrant 0 Fibre 5 Quadrant 1

« f ml= 398.5+1|5 5_?300: mi= 447.9+1|a
ek = 48.1£1. = = 48.6£1.
2 2501~ sg= 48 6 | sg= 48.6+1.8
g [ sl= 18113 g T sl= 207412
ot @ 250
200 r
r 200
150[~ [
F 150
100 [
F 100
sof- E
0' DIOHIAL A Ol
200 400 600 800 1000 1200

hTot
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Events /(12)

B

g

Fibre 5 Quadrant 2

mi= 469.3+1
sg= 51.9+1.6
sl= 20.4+1.3

hTot

o

Fibre 5 Quadrant 3

mi= 410.8 1|7
sg= 51.0+1.9
sl= 25115

1 i it
200 400 600 800 1000 1200
hTot
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Events /(12)

g

Fibre 6 Quadrant 0

&

ml= 455.8+1|5
sg= 48.9+1.7
sl= 224+13

I I B X
200 400 600 800 1000 1200
hTot

0
2
§
i

Fibre 6 Quadrant 1

c

100|

mi= 414.6+2
sg= 47.6+2.38
sl= 232421

23/42



Events /(12)
8

Fibre 6 Quadrant 2

sg= 46.2+2.7

sl=225+21

* ml= 430.8+2]

Fibre 6 Quadrant 3
« f mi= 468.2+ 16
gzso— + sg= 50.3+1.8
s | sl= 23714
o T
2000
1501
100~
sof-
o
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Events /(12)

100|

Fibre 7 Quadrant 0

mi= 500.9+1
sg= 59.3+1.7
sl= 19.3+1.4

Events /(12)

Fibre 7 Quadrant 1
[ ml= 491.4+1[7
250 sg= 56.8+1.8
L sl= 23.6+1.5
200
1501
100
50
o
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g

Events /(12)

Fibre 7 Quadrant 2

ml= 47831
sg= 48.9+1.8§
sl= 255+1.3

Events /(12)

Fibre 7 Quadrant 3
[ ml= 494.1+16
L sg= 55.1+1.8
2501 sl= 237415
150F-
100f-
sof-
ok 1 -
200 400 600 800 1000 1200

hTot
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The fits

Fibre 8 Quadrant 0 Fibre 8 Quadrant 1
ml= 490.9+1[7 s [ mi= 489.4 116
sg= 51.7£2.0 = 250 sg= 53.8+19
sl= 25.7+1.6 g sl= 25.8+15
z [
200
150 L
100f
s0[-
1 Ry Ok 1 ety
800 1000 1200 200 400 600 800 1000 1200
hTot hTot
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&

Events /(12)

g

Fibre 8 Quadrant 2

ml= 486.7 1
sg= 523+1.9
sl= 24115

1(12)

2

Event

Fibre 8 Quadrant 3

ml= 469.6+1/8
sg= 51.5+1.9
sl= 206+15

1200
hTot
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The fits

Fibre 9 Quadrant 0 Fibre 9 Quadrant 1
mi= 4289117 s f mi= 460.911/4
sg= 53.6 1.8 S I sg= 46.5+1.6
sl= 203£15 § 2508 sl= 253413
a [
200
150
100
s0[-
e ol | | itrtedde 4o
1200 200 400 600 800 1000 1200
hTot hTot
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The fits

Fibre 9 Quadrant 2 Fibre 9 Quadrant 3

S
i

ml= 463.8+1[7 240

sg= 514119 Ezzo

sl= 214415 8 200)
w

mi= 410.7 1|7
* sg= 46.0+1.9

NN

Events/(12)

sl= 220+1.4

D
8
T I T R I T P e

; PR A ok B, v
200 400 600 800 1000 1200 200 400 600 800 1000 1200
hTot hTot
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Events /(12)

100|

Fibre 10 Quadrant 0

ml= 460.9+1
sg= 50.7+1.7
sl= 231414

Events /(12)

Fibre 10 Quadrant 1
2000 ml= 450.7 1|9
F sg= 53319
180
E sl= 17.0 £ 1.6
160
140F
120F-
100
80F-
60F
40f-
201
K B0 400 600 800 1000 1200
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Fibre 10 Quadrant 2

ml= 429.5+1|9
sg= 527+240

sl= 19.3+16

Events /(12)

Fibre 10 Quadrant 3
250 ml= 451.9+1/6
[ sg= 50.4%1.9
[ sl= 25715
2001
1501
100
sof-
o

hTot
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Events /(12)

100|

Fibre 11 Quadrant 0

ml= 502.1+1|5
sg= 525+1.7
sl= 243+15

L L Phaeth, S
200 400 600 800 1000 1200
hTot

Fibre 11 Quadrant 1

w f ml= 484.9+1|7
35 sg= 55.3+1.9
s [ sl= 258+1.6
w L
2001—
150
100
sof
o
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&

Events /(12)

g

Fibre 11 Quadrant 2

ml= 479.0 1
sg= 51.2+1.38
sl= 265+15

Fibre 11 Quadrant 3

« [ mi= 487.7+15
gzso_— sg= 50.5+1.8
s [ sl= 242414
g I
200
1501
100
sol-
o
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Events /(12)

Fibre 12 Quadrant 0

ml= 456.6 + 2|
sg = 55.0+24
sl= 20.1+2.0

Events /(12)

Fibre 12 Quadrant 1
r ml= 4715+ 16
2501 sg= 51417
[ sl= 20.8+1.4
200
150[
100
s0l-
&
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Events /(12)

]

g

o 8 & 3 3

Fibre 12 Quadrant 2

ml= 444.6 +2[0
* sg= 52.7+2.2

sl= 19.2+16

B

Events /(12)
8

3

Fibre 12 Quadrant 3

mi= 422.1+2
sg= 44.9+25
sl= 21.6+2.0
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The fits

Events/(12)

Fibre 13 Quadrant 0

sl=224+18

200 400 600 800 1000
hTot

Events/(12)

NN
o
=3

Fibre 13 Quadrant 1

mi= 433.3+1|7
sg= 48.4+1.8

sl= 20.1+1.5

Aiffich,
200 400 800 1000 1200
hTot
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The fits

)

@
&

Events /(12

Fibre 13 Quadrant 2

2
3

400

600

mi= 387.0+1|9
sg= 46.0+1.8
sl= 14114

Events/(12)

Fibre 13 Quadrant 3
[ ml= 300.00 + .39
120 * sg= 60.5+1.9
L sl= 11.6+15
100
8ol
60-—
a0l
20
Ok 4 Fal i e
200 400 600 800 1000 1200

hTot
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Events /(12)

100|

Fibre 14 Quadrant 0

ml= 42531
sg= 49.8+1.7

sl= 19.8+13

Fibre 14 Quadrant 1
200 mi= 404.1+1/8
E sg= 49419
180F
F sl= 17.7+1.5
160F
140
120F
100
80F
60F
40F
20
% 200 400 600 800 1000 1200
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The fits

Events/(12)

Fibre 14 Quadrant 2

140
r mi= 366.8+25
[ sg= 50.0+2.1

120
F sl= 120417
100
80-—
so0[-

20|

K21 mowow o
1000 1200
hTot

Events/(12)

Fibre 14 Quadrant 3

mi= 395.1+1|8
sg= 48.8+1.8
sl= 15215

Fotihwn
200 400 600 800 1000 1200
hTot
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&

Events /(12)

g

Fibre 15 Quadrant 0

mi= 460.9+1
sg= 49.3+1.7
sl= 21.5+1.4

Fibre 15 Quadrant 1

ml= 459.5+1[7
sg= 50.7+1.9
sl= 225415
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The fits

Events/(12)

@
3

E

100

80|

60

Fibre 15 Quadrant 2

mi= 433.2+2)1
sg= 53.5+2.2
sl=202+18

. i o A0
200 400 600 800 1000 1200
hTot

Events/(12)

Fibre 15 Quadrant 3

mi= 445.4+2]7
* sg= 64.9+2.1
sl= 13.2+1.8

1200
hTot

200 400 600 800 IOO
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